L What is the full form of UPI 7

(A} Unified Payments Interface
(B)  Unidentified Payment Information
(C)  Uniform Payment Information

(D) Union Process Interface

2. Select the incorrect statement from the

following :

(A) You can save a document in PDF

in Microsoft Word 2010

(B) The shorteut key Cul+P used to print

a file in MS Word 2010

(C) Gmail is used to send and receive
the emails

(D) POS terminal is an example of a web

browser
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6. What is the use of Restore Point in
Windows 107

(A) To get the hard copy of the
document

(B} To recover the computer in case of
malfunctioning

(C) To store the documents and files in
a hard-drive

(D) To resale the old products

7. How can you classify the computer sysiem
according to the speed, storage and
performance ?

Select the correct option from the
following :

(A) Impact and Non-Impact

(B) Mouse, Touch-Pad and Trackball
(C) Gmail, yahoo-mail

(D) super,Majnfrmanini. Micro

8. Maich the following :

1. Android 1. Browser

2. Chrome [L. Mobile OS

3. Facebook 1L Social Networking
Websile

Choose the correct match from the
following

(A) 1-L 21, 3-11

(B) -1, 2L 3-11

© I-5,2- 3-101

fb} 1., 2-11, 31
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12. Statement 1: Secondary memory is a

volatile memory,

Statement 2: ROM is a non-volatile

meEmory. ame 2
Choose the appropriate option from the 1)
following :
(A) Statement 1 is commect and statement ﬁﬂﬁ]‘ﬁﬁﬂﬁﬂ 3fea fased E’ 1 :

2 15 incorrect

(B) Statement 1 is incorrect and

statement 2 is correct

(C) Both statements | and statement 2
are incormect

(D) Both statements | and statement 2
are correct

5 g is present in the bottom of
the user interface of Windows 10 and

generally contains a start menu.

(A) e | W & SR A 27
®) e | T & SR AT 2 W ®
(©) i awhed | AN T 2 T §
Mﬂfﬂ?ﬁﬂ?ﬁlmﬁmiﬂﬂ%

13 fi 10 o0 S2HE F A= F
s # HisE @ & S SEER T T

w2 A B ¥
\(A) ZTERER

(A) Taskbar
(B) lcons (B) STE=hA E
(C) Microsoft (C) W
(D) Firewall (D) HAEA 5
<
14. Modem is abbreviation for : 14. HEH, .ccoooovn.... B foru wftra wm & ;
(A) Modeled-DeModeled (A) Hizrz-EHfees -
(B) Motion-Device (B) wH-feamw ;
(C) Mission-Decommission () frm-Fwsm ;
(D) Modulator — Demodulator. LD} W.W .
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18. What is the yse of Zoom Slider in MS-

Word 2010 7
(A) To increase or decrease the viewing
areq
(B) To bold the selected text
(C) To delete the selected texi
(D) To insert the new text in &
paragraph
19. What is the use of Frecze panes command
in MS-Excel 2010 7
(A) To copy formatting from one area
in a worksheet and apply it to
another area
(B) To hold row and column titles in
place so that they do not scroll when
you scroll a worksheet.
(C) To create a formula
(D) To draw the charts.
20. Suppose cell B, B2 and B3 contain some

numeric values in MS-Excel. What is the
correct formula for finding the minimum

of the values present in these cells ?
(A) =MIN(B1, MIN(B2,B3))

(B) =MIN(BI, MAX(B2,B3))
(C) =MAX(BI, MIN(B2,B3))
(D) =MAX(BI, MAX(B2.B3))

M—D FEWF mzl

18. qq‘l{{:fﬂ'g Eﬂlﬂ'ﬁ T wEet

Iy & ?

Mmqﬂwmwaﬂiﬁﬁ‘ﬁ
e
B) At Te F Awes 0 ® fag

(C) w8 #1 g2[ & fag
(D) T tmrs H A oS wfEfed H
% fan

19, UHuR-uwEEe 2010 § Wi T wHE F=

IUENT TR ?

(A) Todt smvite 4 ww &9 § wiHen
=1 Ff 7 F fou o 3 o
&% 8 w1 w0 & ey

\(B) T v =1 fer md &
e o 3 ==y =1 =ta 50
HHT T 7 #1

(C) FFaH & o

(D) =& &1 & fog

20, = wifey f RT3 B1, B2
3 B3 T A WA § | A A
HNE AH F A F@ F H A
TIE #4182

{A) =MIN(BI, MIN(B2,B3))
—(B) =MIN(B1, MAX(B2,B3))
(C) =MAX(BI, MIN(B2,B3))
(D) =MAX(BI, MAX(B2,B3))
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